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Print "Amman", "Jordan" \

Input "Enter name, mark:"; X$, M Y

For I =3 to 30 Step 3
Print I
Next I
IF N < > 0 Then Print N \ 5 else Print N + 5
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Pl'int P3E) N K:ij%‘},; \
Print abs(X —Y); A\ 10 w%f Y

NN
IF X mod 3 = 0 Then Print chtQé\qf(X)) \y
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W = (sqr(3*x) 10y +xy)) [>(abs(3 — x + 2*y) — (9"y))
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INPUT R, RS, 1, r'$
Print Rmod4/2,R$ +1$ .
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Input n

for C=—3tonstep1
sum = sum + 2 C

next C

Print sum

Input y2, y1, x2, x1
M= (y2 —yl)/ (x2 — x1)
Print M

for C=1t020

input n

If (n > 5 and n < 19) Then Print n * 2
Next C

Input n
sum =1
IFn=0Then sum=1
IF n > 0 Then
ForC=1ton
sum = sum * C
Next C
End IF

Print sum
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